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(4.2 - Solve Multi-Step Equations Worksheet #1
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1. Solve
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3. Solve

a)0=14—-x+6x—-9
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4, Find the root of each equation

a)2(x—2)=4x-2
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5. Find the root of each equation

a)2(x—3)+3(x—2)=18
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c)2(c+2)=5(c+1)-7
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9. Solve each equation. Express fraction answers in lowest terms.

a)3x—8=7x+10
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13. An isosceles triangle and an equilateral triangle have the same perimeter. Find the side lengths of
each triangle.

3(&%* (3%+51}~ (4
2x+/ \ LA AR AN
/ Ty -\L)

Ix+2

?

Get Ready for Tomorrow:

17. Solve each equation
a)~(x+6) = 4(x—2) b)sk+:=1k
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Answers:

4.2 Solve Muitl-Step Equations, pages 196-203

1. a}m =2 b)y=>5 Qw=—4 d)d=-g—
2. a)x=—-1 bu=-1 ¢y=2i dm=8
3 ax=—-1 byn=2 gt=5 k=0
4, A)x = -1 b)c==15 .¢0)p == dyk=12
5.3x=6 b)y=3 ‘¢)c = 2! dyt=4
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13. isosceles triangle: 5, 5, 8; equilateral triangle: 6, 6, 6

17.!)x=2—72 b)k= ~6"






